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In this circle, % and % are shaded.

What fraction of the whole circle is not shaded?
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Tick (v') two cards that give a total of 5.
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This square is divided into three parts.

PartAis % of the area of the square.

PartBis % of the area of the square.

What fraction of the area of the square is part C?
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17 In this diagram, the number in each box is the sum of the two

] numbers below it.
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Write the missing numbers.
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n Here are five number cards.
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Use three of the humber cards to make this calculation correct.

[1 mark]



[2000]

[1 mark]

[2003]

fH g f
Ll

[1 mark]

2006]

g-of£180::
3

":!;'” X g) 2,

O

3%: w180 = |20 €0

[1 mark]



E Match each box to the correct number.

[2001]  One has been done for you.
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m Three-quarters of a number is 48
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' What is the number?
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There are 24 coloured cubes in a box.

Three-quarters of the cubes are red,
four of the cubes are blue

and the rest are green.

How many green cubes are in the box?
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One more blue cube is put into the box. - & BLUE 3 LS Cokes /

What fraction of the cubes in the box are blue now?
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